e TE-F 3] C aqq—if%q -2.0 21
e B T B i

B KLET N
00 o URE] o 43 3BTRE, 202 0.

R15 ®9%

112653 ~  TFEEe-n

WA WAl ST g UaredT shdsararat
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(1) w100 FEAT T min. S wwEih s Rrfva gear Fwarg o segfE w6
YA R FFaT T A Gt FEA W, a0 o e S Sewead B WYY gragmihed e

oo A _ I W
(2) aen FHaT-HAE 7 S ' r
1 P stea=y foagman. l Fae ol

g FhAE

() T BMHA T FHE g STaheR fafire arft st gErsE T Rrawa wHg wwmE
@) () mmﬁﬁamm4qﬁﬂﬁﬁﬁmmlzsm4aﬁmﬁéﬁm
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vt At syt arga T
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‘ foaen 9 T digagd. HOH WE SSfa0 SR oTE YU UETET U9A Hdivl aigedtd @Et 9% A
AT gEe Wyt 9@, I YHR Heee wAEd dEeerrd 38 feas uftemm wdin o
(6) ITUCAFA UHGT AYE FAA I GrSaT JUR ATEY. FHE Foret I WFF 1A IR fieww ¥ avmEt Jom
mmmmﬁmm%mgﬁ%ﬁmawgﬁwmwam%ﬁwﬁa
(7) WA TSN STUEES Gedie SdFl SHCaRTe STubbdidl 4 ST o e e, a8
“Shigarm FEgfiss agmaift e aEE Retedr GRSttt waia 9 I Swafha g Hud.
AT AT IR WSSl YeiF Yehrem Iutaid) 25% fRan 1/4 1or Ion/wH oA A,

witgraTdt arra Yvam AW . @ 3% Wuuda @ yAgeensft wa/adl, e e wvagfeeedter @ sy
VAT TEUT TR AT SAHeIequ SHoreTdt saaa quiEey, wdw afig wr g e oA ot et o=
| | R AR A e “afamed Fomear foerie sfds swaaEeae afufae-82” e wgdaen
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1. Wﬁﬁamareﬂaﬁuﬁamw
H,  USATAT GThE-JEh I sqaesdier fvr faufor st &t o gat=s siftas oR.
T, mﬁmﬁrmuﬁﬁwmﬁamaﬁnnémﬂwﬁwﬁtﬁ%ﬁw

3Hd.
aﬂaﬂﬁaﬁmﬁﬁm/ﬁwm@/a?
(1) A (2) ®aHdd
(3) oA - (4)  ateh T AT

Consider the following statements about the State Cabinet : |
a. Itis the highest decision-making authority in the Politic-administrative system
of a State.

b. It exercises control over higher appointments like Constitutional authorities
and Senior secretary level administrators.

Which of the above statements is/are correct ?
(1) Onlya (2) Onlyb
(3) Both (4) None of the above

2. Grefie foram feam = ,
3. T AR SR we T TeEe P e T,
®. T WIHHE TR HAT= FHwE e T8 8.
Fheht Hiva fum stwt amga ?
(1) =Fefors
(2) ® amfuor s
(3) e
(4) A, M

Consider the following statements :

a. The Chairman of State Public Service Commission is appointed by the
Governor.

b. The Constitution does not specify the strength of the State Public Service
Commission.

c.  The tenure of the Chairman of State Public Service Commission is five years.
Which of the statements given above are correct ?

(1) aandb

(2) bande

(3) aande

(4) a,bandc

FoeT NS @RI / SPACE FOR ROUGH WORK | P.T.O.
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3. @i foam fa=moa = .
9. T fadieesre Amiidsia srewiien oo T A A9 A
F. TN 909 A R TS Fivaa el Jam.
T w vy v smeEk i 9g kT,
FTTH Hior faum st TRa 2
(1) <13mfra (2) SaMfr= (3) & smrs (4) A 3mrg
Consider the following statements :
a. The ministers are appointed by the Governor.
b. A nominated member of the State Legislature can not be appointed as a
minister.
¢.  The salaries and allowances of ministers are determined by the Governor.
d. The ministers can take part in the proceedings of the State Legislature.
Which of the statements given above are correct ?
(1) aandb (2) bandec (3) candd (4) aandd
4, G R L] Tsage-=al FTo8¢ 164 HEd 3TRd ?

A, T HEIIETAl HeedTar wrEt Fywh Fdia.

9. EIHAWE TAE! T HEAl 12 BET ) H9dl HH .

%, T T e gecamerea FIAE =gTe Sesl % W ATE.
3. U™ wd A de Tsafaiises i,

qardt I ;
(1 #{,9,% (2 Iq€,49,3
-3 A, %, 8 4y 4, %, T

Which of the following are the provisions of Article 164 of the Constitution ?

a. Ministers shall be appointed by the Governor on the advice of the Chief
Minister.

b. The number of ministers including the Chief Minister shall not be less than 12.
The advice tendered by ministers to the Governor shall not be 1nqu1red into by

any court.

d. The salaries and allowances of ministers shall be determined by the State
legislature.

Answer Options :

(1) a,b,c (2) a,b,d

(3) a,cd , (4) b,cd
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Feltet A B4 ¢
H o

A HEH - 155 i, s g

9. w156 i, TSI 9ETET $HREHE

. HEH — 157 iii. To9YS TS qIEar

8. %aH — 159 iv. TS99 9! 199
qaidft I

H | h k-
1 i i i iv
(2) iv 1mi 1 i
8 i 1w 1 i1
(4 i i iv i
Match the following pairs :
A ' B

a. Article — 155 i. Appointment of Governor
~b. Article — 156 ii. Term of office of Governor

c. Article — 157 iii. Qualifications for the post of Governor -

d. Article - 159 - iv. Oath for the post of Governor
Answer Options : .

a b c d
1 1 i i v
@) v iii il i
3 m v 1 i
(4) i i iv i
6.

aidie fremaftdl 40% vmarie A 9 50% Het sMRA. WK 25% Whd fard geR
s, T felt o8 el e e Tia s 2 ' |

(1) 33-33% (2) 40% @) 25% (4) 20%

40% of the students in a class are from India and 50% are girls. If 25% of the Indian
students are girls, what percentage of non-Indian students are boys ?

(1) 33-33% (2) 40% 3) 25% 4 20%

ZPPEAT FATHTE! ST / SPACE FOR ROUGH WORK ' P.T.O.
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7. SR R& Nt guffeet, D& T geifeet, IMUA, O IH, ESRA, TenO Hfi UsnD
#ft, N=n C =t anfor C = E Y, /W INTRODUCE & o2 &1 fo7eret ? '
(1) UCONIDTER (2) UCONITDER
(3) UCONTIDER (4) UCOINTDER
If R is denoted by N, D is denoted by T, I by U, O by I, Eby R, T by O, U by D, N by
C and C by E, then how will the word INTRODUCE be written ?
(1) UCONIDTER (2) UCONITDER
(3) UCONTIDER (4) UCOINTDER

8. Wil urufined gEifaeymm, v @y o gfhaned +me am 9 sde=Eh @en

. Gy 3T,

| 3-5 7

517 10

7-9 18

9-11 57

11-13 14

13-15 8

o ST HHEE Fad FmHE aE fedl o 2

(1) 95 (2) 10-22 3 11 (4) 12

The following table shows number of working hours and number of employees in a
small scale industrial unit.

Number of Number of |
working hours Employees
3-5 7
5-17 10
7-9 : 18
9-11 57
11-13 14
13-15 8

What are the average working hours of an employee ?
(1) 956 (2) 1022 (3 11 (4) 12
FeeT FHTHIE! SIAN / SPACE FOR ROUGH WORK
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9. 75 ¥ TEd LRTEIs! g 1B Sed. d G T 969eie AR, d 3ed - J, K, L, M,
N, O, P, Q 3T R. L ¥ M =0 3=t a8 3nfr N = sofiene for=n v a1méd. K,
Trem i A IR Q‘E’TO:mﬁTPaTwEméala?% O & K = sdiss foa=m
TYATR 3R, J, O <1 Sriehe 3 Ie 1.

Tirsa1 FeAATh 0 AT AT ? _

S I 2 J 3 O ‘ 4) Q
Nine Cricket fans are watching a match in a stadium seated in a row. They are — J,
K,L,M, N, O, P, Q and R. L is at the right of M and at the third place to the right of

N. K is at one end of the row. Q is seated adjacent to both O and P. O is at third
place to the left of K. J is right next to the left of O.

Who is seated at the centre of the row ? .
1 I (2 J 3 O 4 Q

10. wreliteash frma Sy faer
1(9)2
3(243) 6
5(854) 9
4 (441) 7
1 12 (2) 3(243)6 3) 5(854)9 (4) 4(441)7

Choose the odd pair/group in the followmg
1(9)2
3(243)6
5(854) 9
4(441)7
1) 192 (2) 3(243)6 (3) 5(854)9 (4) 44417

11. I arefead a1 4 A, Hesai) JTEa). SR T 9uid gy & 15 e Sl sHa,
T A HIVET feaw I8a ?
(1) whaEr (2) wTEBAR (3) Fwar (4) TEER

Ketaki’s birthday is on Tuesday, 4!® July. On what day of the week will be Ayush’s
birthday in the same year, if Ayush was born on 15th August ?

(1) Saturday (2) Tuesday - (3) Wednesday (4) Thursday

Foedl HHTAISE @RI / SPACE FOR ROUGH WORK ' - P.T.0.



R15

8 A

12, U OuEEEd 5: 9 : 4 =9 WG 50 ¥, 25 88 onfr 10 e Al ode, ana’rwm
T 206 B19. frorefidier ugur qvarh dE A
(1) 660 (2) 700 @) 1720 (4) 740
A bag contains 50 paise, 25 paise and 10 paise coins in the ratio 5 : 9 : 4 amounting
to ¥ 206 . The total number of coins in the bag is
(1) 660 (2) 700 (3) 720 (4) 740

13. ¥ §gh SIS AT (3% saehi=a g e aTaet SuaTs e S e Il

- wegeRH o gl semaHidie 677 MEERieT W . A I GEuTh Jeedn

=AY 99 aNfYr anfdfe wawdt fomma S, @ srvamETe FAeeNigER avE AnTiEET 4-5 9

I THTOTE Tiieod Hidedl AToaTs) ST 318 ST 4-2 3t T M deét gevardt

YT 7. eV fhenefera friers s atfuss gefem sred.

wiet ey, o sreamE, alid giearg Jaiq IR g FOR w4 e

(1) Tiicar Uidedl JogT=41 diars W e ! I STSvaTH! YIedT e 3TEd.

(2) YREH TIHIUIA SAThihgd AThHhd= STeTal rgeied afifeddien sfdeht gfoamg feem
Ao} YT R ST, '

(3) amieh=an gfqgFr=aT ‘Second Amendment’ WWWW SIECaN]]
g feot sd.

(4) TieaAT WML Teie TR a:He e auaae Bl

Persons who always carry guns are more likely to be shot than unarmed persons is
the major finding of the study of the shooting in Philadelphia. University of
Pennsylvania researchers studied 677 shootings that happened during the period of
two and half years. They considered the age and socioeconomic status of persons
involved in the crime. As per conclusion of this study, armed citizens had 4-5 times
more chances to get shot and 4-2 times more chances to get killed. Therefore, in
Philadelphia it is safer not to carry any weapon.

Select the one from given options, if true, that most weakens above argument.
(1) Persons are more likely to carry a weapon who are sure about the risk of

getting shot.

(2) Persons carrying arms are likely to react excessively in a potentially violent
situation.

(3) Persons’ right to carry guns is protected by the Second Amendment of the US
Constitution.

(4) Some of those shot had a concealed weapon with them.

FEedT FEAGSE IR / SPACE FOR ROUGH WORK
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-ﬂaq i, farn, g, @ @ T @ wer gl weis Sur qaen, dion F SR aah

FORS ad e T9Ed, WY FTE AR A et qeaan.

aim@narﬂam@wﬂa@mﬁaﬁmwmﬁ.mgaﬁmamﬁazﬁw
I oM. fm el aer, o @ SArem ©F figw amft sEweh. fen wivard
et anifor ot dion & sgvelie aEe .

A aed o G R TR, 1 @ e asfemrear dat gEn famdfl, e

Hon arerETET PE FR T aeiad iR s @i e

(1)
(2)
3
(4)

HHER

R LT
ELEL

faer gt A

Among Ronu, Ana, Biba, Chinu, Sana and Dina, everyone can play one of the

musical instruments, tabla, veena and violin but some instruments are played
by two girls.

The birthday of each girl is on a different day of the week and is on a day other
than Sunday.

Ana is not born on Monday and cannot play veena. One girl playing tabla is
born on Friday. Biba plays violin but she is born one day before Ana. Dina is
born on Saturday and she doesn’t play violin or veena.

Chinu plays the instrument that is played by Ronu. Ronu was born on
Thursday, the second day after the birthday of Ana. Ronu plays veena.

Select the birthday of the person, other than Ronu, who plays the veena.

(1)
(2)
(8
(4)

Monday
Tuesday
Wednesday

Insufficient data

HoeY] FEHTE ST / SPACE FOR ROUGH WORK P.T.O.
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15.  SRES SqvawErd) aiidheesesn 3fua sk fas w0,

@ P |+
Al a2

agidft 39 ;

X

W | — @

(3) >'< (4) O

Select the logically appropriate option to replace the question mark.

@b
A\l A

Answer Options :

1 | — 2) >< (3) >K (4) O

16 WP$QWEbP, QI Us IR; P#Qaad P, Q< a5 o, P* Q= ad P, Qi
Herft amme; WA # B $ C * D’ 1 faumrdia adier fasr.
(1) D (2) B 3 C (4) 78 fan
IfP $ Q means P is the brother of Q; P # Q means P is the mother of Q; P * Q means
P is the daughter of @; then select the father in the statements ‘A#B $ C *D’.
(1) D 2y B 3 C (4) Insufficient Data
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17, iR U8 w3 S gear S, il 8N ff Tiws adi, wwaﬁa»%arﬁ
rea fesdien Foedt, ot S et swar fam fas

(1) I Tk cfam (@) vd foan ofvem

(3) e fobenn ufem (4) cfeor fan wfvem

Ami started walking positioning her back towards the Sun. After some time, she
turned left, then turned right and towards the left again. Select the d1rect1on in
which she is going now.

(1) North or South : (2) East or West

(3} North or West ‘ {(4) South or West

18. oW (TET$e) S9aET M SreE=a dkige Fmie S Siererea g el e,
M TeEEEEH w6 (W) BH T [fraee des owe & gmeEgEr, gy
Wmﬁ%wmmmwm q e dwr fowam,
JATETAN T Haaerel TEEL YSHard. TS T aHaR ST ARbET 319U fen
Wmmmwmmwwmm A=Al difgh
AT S FH FoEEl SR IOV B SEE A d9e wifge € A siurga
W AT IR,

Fie ghragria 38 3 wr Fefia som fGam faern

(1) mﬁwmmmmmmmw
FHOTE AT foer T@m g 60 I IR,

(2 oNfgh Avay geqvamTd TEN qoTea e g g gfud e st e om
@ _

(3) %ﬁmaﬁwwﬁ%ﬁwmmmm

(4) TE YA IO JAa I ST rEa 3 ot fafay et arwer Tom. ,

Threats posed by people who operate motor vehicles while using mobile phones is

causing much concern. Though it is definitely very dangerous using smartphone

while driving, according to research, generally very frequent use of the phones is

unsafe. Findings of a study indicate that those individuals who use mobile phones

comparatively more frequently are more likely to show cognitive failures. They

forget appointments, bump accidently into things in their surroundings. People who

use mobile phones very frequently are found to have short attention span and

cognitive failures are found to be associated with it. This finding makes it clear that

in order to reduce their risk of cognitive failures, people should try to control their
addiction towards using mobile phones.

Select the statement that very aptly points out flaws in the above argument.

(1) High level mobile phone users may have had short attention spans before they
did get addicted to their mobile using habits.

(2) * Controlling addiction of mobile usage may not be a foolproof strategy for
decreasing cognitive failures.

(3) Mobiles are helping people to complete daily tasks comfortably while saving
their energy and time.

(4) All types of mobiles have different applications that can be used for different
purposes. -

Hoedl HHTHIS SR / SPACE FOR ROUGH WORK co P.T.O.
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19. -39 deE URardt Hioreardl I I A SEdTd 3. i U I e ey
9 g I ER . weeR wed s e, e, Fe) 9 U9 @ |wah e, 3

THIUYS Fe{UATT A A fesad 710, ot fqen == anen Y ot R el “an
ST IS HU AR I o =i e, wnie st ydiesmm s
Tiey ;AT IS Hee TR, Yo U SEshien @i fee.
. o e Reh. @ ar e oo SR,
g : W Wi Ao AR, are foeh .
(1) e 2 f= .
3) U ' (4) Toah wmdt a1
On an island Tela-Dula, the inhabitants always answer any question with two
sentences — one of which is always true and other is always false. Dinu, while
touring this island, meets three inhabitants, Golu, Nilu and Pelu. They were there.at
one of the crossings to resolve a dispute over ownership of plants. One of them bribed
to get certification of this claim. They requested Dinu to listen to their problem.
“Wheo is the owner of these trees ?” Dinu asked and they answered as follows :
Golu : I own the plants. Pelu did bribe the concerned person.
Nilu : I did bribe the concerned person. I own the plants.
Pelu : Iown the plants. I did not bribe.
Select the person who bribed.
(1) Golu : (2) Nilu
(3) Pelu (4) None of the three

20, 366 TR G JEAHAT TSI TEAT FAUATEIE! AT JTOTAT THW = HEAT 318

(1) 1732 (2) 990 (3) 1098 (4) 1305

The total number of digits used in numbering the pages of a book having 366 pages
is '

(1) 732 (2) 990 (3) 1098 (4) 1305
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A
21, YATE G AT AW 7Y T F T TG FEA fereh Fr dea.
' YDC
L
XARV-> @O -3 — AXRW
o i
® YDCC
i
@
i
XXARV
BLH - ® - ?
tl'ﬂ'i‘d’f:ﬁl’(
(1) BLH . (2) BBLH (3) BLHH (4) LBH

Study the flowchart and construct meanings of all commands and apply them to the
given problem.

YDC
+
XARY = @ - @ —» AXRVV
i i
@ YDCC
i
@
i
XXARV
BLH - @® - ?

Answer Options :

(1) BLH (2) BBLH (3) BLHH (4) LBH

O] BITAIS! AT / SPACE FOR ROUGH WORK ' P.T.O.
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22. AUl woft SvarETEt aTatedr Smon=n sissre fogreh sfom diedear srgdia guEt o
WIS Tl S o UoTer STl . 1 WigaIr=an aetent g a3 o fer e mof
Tesd @A, WIS UM QU AW e, I W flwe s 9w gerh, 3@ S s
eI Irar= Giefl w3t seeid J1d B SrEau e Fed ..
fedtelt mfadt Som waR Wi S s e '

gt I ;

. N
IR RN

f F > T
(1) (2) (3) (4)

The accompanying image shows the cross-section of a container that is used to water
plants. The container is filled with water and is suspended above a houseplant.
There is a small hole at the bottom of the container, through which the water-
trickles down at a constant rate. Four children were observing this process and drew
a graph to show how the depth of water in the container changes with time, from
when it is completely full of water.

Select the graph that best represents the given information.

Answer Options :
N !
e e\ e i
p P, \ p |
! o t| t
h h nl ot
: Time T Fime J Time " t Time
(1) (2) ' (3) ‘ (4)

Feeg] HHATS! TR / SPACE FOR ROUGH WORK
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23. m:mmwww-maﬁmﬁmwﬁmaﬁaawm
e 3@ 4 frem Afofen v g, TR wrul fervarn fvea Fen ome sd i faen
TRV, TRV ot STy Fafiaas T R 9 SRR S0 HEe A

(1) R meen fRd s fergrman smde @ faen omm ww fafzra wee fawfa e
TS, S HU ISR fEE= A aea SvaEE) 6 awi Seetedr SR
el gnelt snfor st dt wawee fa<ht iz s fodia.

(2) TYE TEde Mufeyren i 9@ T g1, RO F 9 ® A oEargt 899 8
T TR . T SEvEE HEY 98 HaWN T Fd ATl AUt el
Hiftraet g o ey 3= TuEET e AT,

(3) mmwwwmmmwwmmmwm
firaauaret Ww AR, SHen gy die WIR fearen AR VH WEiiey @ S avtard
7 < Hida.

4) R A Tsa I e et s v g q il e gy
AT T SO W IR, A-E) YA TEHUITST WSy SERIE §41 1R TV o T

Deepa was telling her friend that if she wants to win the State level vocal music
competition, then she will need to learn to sing and practice every day. She told her
that she is resolved to win this competition. Thus, she means that she will be
learning to sing and practicing hard regularly from now.

Select the one that most resembles the reasoning used in the above argument.

(1) If Shalu wants to write humorous stories then she would have to develop skills
of writing such stories. She has participated in workshops conducted by experts

to experience how to write such stories and now she will soon be writing her
first story.

(2) ‘Madhu wanted to spend more time on his research essay, as he knows that only
then would it be of high quality. His teacher told him that he would not get the
time he needed, so the essay would not be of high quality.

(3) If one wants to earn high remuneration nowadays, he/she needs to acquire lot
of experience of working in various countries. Since Dany wanted to earn very
high remuneration, naturally he is going to leave this country for some years.

{4) If authorities can bring together leaders of two states for discussion, there is a
possibility for designing a solution for minimising pollutions of different kinds.
Preventing pollution is something both the states want, so they are going to
organise a discussion with the concerned persons of the State soomn.

TRyl FHIHTAIS! WA / SPACE FOR ROUGH WORK . P.T.O.
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24,

16 | A
S T Wihfaeh WA, BOMBAY @1 MYMYMY @ fafdde, ® e wibfes wia
TAMILNADU o %8 fergra ? '
(1) TIATIATIA
(2> MNUMNUMNU
(3) IATIATIAT
(4) ALDALDALD
In a certain code, BOMBAY is written as‘MYMYMf, how will TAMILNADU be
written in that code ?
(1) TIATIATIA
(2) MNUMNUMNU
(3) IATIATIAT
(4> ALDALDALD

25.

6, fowu i 5 Infor wr=a 31 2 WM. S gE=n 9 fn siwrea wed quieR fas oo
forg=an & <hean oA qel wHHET fog d9a W A o .

(1) 645320

(2) 635427

(3) 635428

(4) 635429

For Internet banking Jeet’s six digit passcode is composed using six different digits.
The first digit of the passcode is 6, third digit is 5 and the fifth digit is 2. A correct
calculation appears if a sign of multiplication is placed between the second and third
digits and the sign of equality is plaﬁed between the third and fourth digits.

Select Jeet’s passcode from given options. |
(1) 645320

(2) 635427 -

(3) 635428

(4) 635429

Froe] BFTATS! ST / SPACE FOR ROUGH WORK
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26. @it AR x i o ®rer
¥ _ 100
256 x o
(1) 16 2 4 - (3) 64 (4) 256
* Find the value of x in the following equation :
Yx _ 100
256  x
(1) 16 (2) 4 (3) o4 (4) 256
27. w3 I wEA % # e - Qe 8 3 W) om, T WA SR 3 R 9
(1) 20 - (2) 13 (3) 6 4) 15
If 1 of a two digit number is larger by 8 to its ith, then what is the sum of digits
in that number ? ' , ‘
(1) 20 (2) 13 3 6 (4) 15
28. R i, % % % aifor g % YU Tew HHH TEE, T dfeed 9 daear Uit S
fopeft 2 | '
2 5 9 29
2 i i 4 =
(1) 3 (2) 13 (3} 3 4) 24
. 1 1 3 7 5. . , .
If we arrange the fractions 1'3'5'8 and ry in increasing order, then what is the
sum of first and last fractions ? .
2 ' 5 9 29
ol 2y 2 g 4) =22
(D 3 (2) 13 (3) 3 .() 21
29. UH GHEGAA 15 W T 2,340 & fawearar T 60 i e | W I v @ fa
feneft 2
(1) <160 2 <240 (3 T180 4) ¥ 230
A shopkeeper sold 15 shirts for T 2,340, he suffered a loss of ¥ 60. What is the cost
price of each shirt ? .
(1) T 160 (2) T240 3) T 180 (4) - ¥230
30. 4 3 9 2 TS TR T 57,200 IR, @€ 6 ST 9 3 SIS fHAa R ol 2
(1) < 85,800 (2) ¥ 75,800 (3) ¥ 95,800 (4) T 95,900

The cost of 4 rings and 2 bangles is ¥ 57,200, then the cost of 6 rings and 3 bangles
is '

(1) ¥ 85,800 - (2) ¥ 75,800 (3) T 95,800 | (4) ¥ 95,900
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31. UH 9EU=A1 31% N 13% Tidflet &b 576 AR, AT ) Gl Hiordt ?
(1) 3200 (2) 2300 (3) 5300 (4) 4500
The difference between 31% of a number and 13% of the same number is 576, then

the number is . '
(1) 3200 (2) 2300 (3) 5300 (4) 4500

32, We A& TR a5 H.

[E]—al‘l-
81

81 3 8 4
(1 — 2 — 3 — ‘ 4 —

) 16 (2) 5 3) o7 (4) 5

Find the multiplicative inverse of the following.

81

81 3 8 4
1y — 2y — 3 — 4) =
1y 16 (2) 5 3) X (4) 5

33. AT RELE. 8 T wELl. 144 3R, UF TF FEAT 16 T gEY FEAT Hivrd! ?
(1) 108 (2) 96 (3) 172 (4) 36
The Greatest Common Divisor of two numbers is 8 while their Least Common
Multiple is 144, Find the other number if one number is 16.
(1) 108 (2) 96 3) 72 4) 36

34, TR 125% = 625 8w, W a =N fhaa .

4 3 2 3

= 2 2 4 2
(1 3 (2) 2 (3) 3 (4) 9
If 1252 = 625, then find the value of a.

4 3 : 2 3

2 2 = 3 = 9y =
(1) 3 (2) 1 3) 3 (4) )

35. 0-77777... T i g Ul % weTa g

14 77 7 7

= L 3 £ ) =
(1) 5 (2) 100 (3) 9 ( 10
Write following recurring decimal fraction into P form
0-77777... . q

14 ‘ 77 7 7

— 2) — 3 - 4 —
(1) 9 2) 100 @) 9 ¢ 10
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36. o e w.ELfL 11 owe @ 9.9, 693 MR, TR UE W 77 I, W ghi UeH Hral.
(1) 63 (2) 93 (3) 88 (4) 99
The GCD of two numbers is 11 and LCM is 693. If one number is 77, then find the
other.
(1) 63 (2) 93 (3) 88 (4) 99
37. f¥ma wreEn.
J49
\/1+ Ja1- 17 + V6t
(D 7 @2 V7 3) 247 (4) 14
Find the value of
@
\/1+J41 —J17 + Vo4
w7 @ V7 3) 2v7 4 14
88. W fia 99 fren e s Feaman 5awf=ﬁawﬁa=n% aae Adffear aai=t sl 58
. T Ha= a7 frdt 2
1) 12 (2) 30 (3) 16 4 21
If the age of Neeta is 5 years less than half of her mother’s age, sum of the ages of
Neeta and her mother is 58 years. Find the age of Neeta.
(n 12 (2) 30 (3) 18 4) 21
39. <z forcinim grgih fFma T 400 a1, W25%W3ﬁﬁﬁ3ﬂm o grEEh fima i
Teremnim foret B1ge ?
(1) T34 (2) T 48 3 T32 4) T 36
The cost of 10 kg sugar is T 400. If on that, 25% sugar is free, then what will be the
cost of sugar per kg ?
(1) T34 (2) T 48 (8) <32 (4 T 36
40. €I TH WA T 7-5 ARG o HAdl. @ Sen Rt s fasen revet dwigen 12-5% A%

Tge ?
(1) ¥ 8,25,250 (2) ¥ 8,43,750. (3) ¥ 8,37,500 (4) ?78,40,250

Sanjay purchased a bungalow for € 7-5 lakhs. At what price, should he sell it to earn
a profit of 12:5% ? '

(1) ¥ 8,25,250 (2) < 8,43,750 (3) ¥ 8,37,500 (4) ¥ 8,40,250

PO HTTEIS ST / SPACE FOR ROUGH WORK P.T.O.



20 A

R15
41. 1999 @reh s awr @ wead ‘& -fr g sTaEI drseh. T @relere o
AR SRR A9 20T ) ?
(1) =gl wmor - (2) wHLS. I=gA FAW
(3) Tospm wrmTd (4) YsmoIq dgIRET
NASA’s X'-ray telescope launched in 1999 is named after which of the followmg
Indian Scientists ?
(1) C.V.Raman - (2)- AP.J. Abdul Kalam
(3) Vikram Sarabhai - {(4) Subrahmanyam Chandrasekhar
42. I TH Freinfieisn wd qUTed stEeiear YRS AT .
(1) Eref Tireeres (2) oTaTE e
(3) fwa e (4) sfrfie @eene
' studies radiation with wavelengths greater than approximately one
millimetre.
(1) Radio astronomy (2) Infrared astronomy
(3) Optical astronomy (4) Ultraviolet astronomy
43. B 97 99ed gge @il WisEr.
(1) dFR (2) wHmTH (3) gremmh (4) HrrshIERR
The depth of the sea can be measured using techniques.
(1) Sonar (2) Sonography (3) Holography (4) Microscopy
44. mﬁwwmﬂm'wmmmm;ﬁwmmmm
weed g A7eT ? |
(1) =n (2) TCTEE (3) @M (4) FRARAT
When light travels from one medium to another medium, which of the following
property of light does not change ? :
(1) Velocity (2) Wavelength (3) Amplitude  (4) Frequency
45.  ORYHY FaiEN HHiE SR 7 R, O o §9-99 mie gogie o) Se s .
(1 2i+1 (2) 2[2t+11 @) 21+1] 4 I1+1 '

The maximum number of electrons in any subshell with orbital quantum number 7'
is .
(1 20+1 (2) 2[27+1] (3) 2[+1] 4) I+1
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5 ue faod gam ofis & N AT L.
(1) MnO, - (2) UwiEe - ® (4) Zn
In dry cell battery, anode of the cell is made up of .
(1) MnO, (2) Graphite 3) Cd (4) Zn
47. SI THH[d TI6S § I THifaer .
() fEE @ ' , (2) (dter)s frar md
(3) [ (1) A (2) (4) odath wHed T
The SI unit of volume is expressed as . :
(1) Litre (L) : (2) (Meter)3 or m?®

(3) Both (1) and (2) (4) None of the above

- 48,  Telienieh! S Hean AquHl 778t ?
(1) Tge
(2) TITHN
(3) FHH
(4) HoraTEl ATE
Which of the following is neot an allotrope of carbon ?
(1) Graphite '
(2) Graphene
(3) Fullerene
(4) Nomne

49, “wHE I R g T AR org AT AR w0 sre am.” ¥ Foft gaRd 7
(1) e (2) Rt (3) & smeht 4) g wis

“It is impossible to determine simultaneously, the exact position and exact
momentum of an electron.” Who proposed this ?

(1) Schrodinger (2) Heisenberg (3) de Broglie (4) Max Planck

50. - B 91 ‘WIS 919 g IV AT,
(1) fhefie smaEFETR (2) firfla smdEEAEs
(3) firefia smEweEs (4) fiefter smedERE
gas was responsible for the ‘Bhopal Gas Disaster’.
(1) Methyl isocarbonate (2) Methyl isocyanide .
(3) Methyl isochloride’ (4) Methyl isocyanate
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51. UA.UH.UA.UH.-5 & |91 wursf o amg 2
A, AR wIAMO q.  woft gagm
*. Ao gaam 3. 3vaed gEaw
o feetean qataiehl av vl faer, |
(1) e A (2) wEH (3) @ amfr= (4) wH S
NFHS-5 deals with _
a. health survey b. animal survey
¢.  plant survey ' d. nuclear weapon survey
Fill in the blank by choosing an appropriate option given above.
(1) Onlya (2) Onlyb (3) bandc . (4) Onlyd
52. =iVl gEIWY S Y0 9 el 9 e Fiifdardt s amd 2
(1) FEmelETT (2) AT TR
(3) AT 4
In which fungus is the zinc element necessary for normal growth and spore
formation ?
(1) Aczotobacter (2) Aspergillus niger
(8) Penicillium : (4) Mucor ' ,
53, mﬁaﬂﬁﬁwﬁwwﬁaﬁaﬁﬁm@m (am)mwam‘?
(1) TS e (Thalrm) (2) ufwadt arenmen
(3) 3BT BgE (4) 99 =renmn
Which of the following area is considered a hotspot of biodiversity in India ?
(1) Aravalli hills (2) Western ghats
(8) Indo-Gangetic plain (4) Eastern ghats
54. S FmorEn ym wiefierdsht v s/ Seear gl ?
(1) few gformdt (2) g (3) oFTheH 4) e
Dengue virus spreads through bite of which of the following mosquitoes ?
(1) Aedes aegypti (2) Culex (3) Anopheles (4) Plebotomus
55.

weerme e S/ St wWivmensa @it sven gfafiee e

T 7
(1) 3=t 9 , (2) offlaidt T
(3) siffaidt &Y (4) otff=rd W

During vaccination, which of the followmg antibody regulates efficacy of secondary
dose/booster dose ?

(1) Immunoglobulin ‘E’ (2) Immunoglobulin ‘A’

(3) Immunoglobulin ‘G’ (4) Immunoglobulin ‘M’
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56. ‘Hicrard! aTfer, ‘Eia'a‘}twﬂ’, ‘gu wiw’ s fafae wmEm Sites@e ST 3 11 axfa 29
FoSTHT 9 o AR ey el o €d.
(1) 15 (2) 13 (3) 27 @ 17
The tigress known with various names such as ‘Collarwali Baghin’, ‘Pench ki Rani’,
‘Super Mom’ who gave birth.to 29 cubs in 11 years died at the age of
1 15 (2) 13 @) 27 4 17
§7. 1857 Wit et fardiorht T weh, ¥ Wawde gEy SN wsardier wiee faerdis sw
wia ¢ Tsurdlie wRRe faemdis B.
(1) 1950 (2) 1948 (3) 1947 (4) 1960
Bombay University founded in 1857 was the second University in India and the first
University in the State. It was the only University till in the State.
(1) 1250 - (2) 1948 (3) 1947 (4) 1960
58. YHAKIA VA TsT Wi o Thod INAUM el TS TR ?
(1) e (2) ERTSY (8) > (4) FAEH
Which Indian State is the first to set up the ‘Gene Bank’ project ? 7
(1) Telangana (2) Maharashtra (3) Kerala (4) Karnataka
59. I /A e :

3. Tl ATROER A 2021 HEY TG AigAn AR sreasad freh s el

¥, g faamnr wE2 T degweet 2021 e g s ot
gty I :

(1) | 2 wHd

(3) |aIAH (4) alietd uwd e

Select the correct statements :

a. Rupali Chakankar was appointed Chairman of State Women Commission in
2021. ‘

b.  Justice Vidyasagar Kanade was appointed as Lokayukta in 2021.
Answer Options : '

(1) Onlya (2) Onlyb

(3) Bothaandb ' (4) None of the above
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60. Gl s A Nzar

EL IPL WHIAE, AT
et (faram |
H. 2015-16 - . Hfa |
q. 2016 -17 - . U1 H1aor
% 2017-18 - Ugd Ped
qaiHt Im
(1) & ' (2) =
3) @ (4) Tl Tl T
Select the incorrect pair from the following :
Year Outstanding Parliamentarian Honoured
Person (Vidhan Sabha)
a. 2015-16 - Dr. Anil Bonde
b. 2016-17 - Subhash Sabne
c. 2017-18 - Rahul Kul
Answer Options :
{1 a 2) b
3) ¢ (4) None of the above

61. WIAUh! HIUAT FRYIihell Tos Ha&0 a8 2021 =1 Y9H HHi% Y ATl ?

(1) faa (2) IR (3) wHaE (4) eI

Which of the following Nagar Palika bagged the 1% prize in the Cleanliness Survey,
20217 ‘ : 7 '

(1) Vita (2) Lonavala (3) Saswad (4) Akola

62. @icficii=hl v Toa UE gEH, @Y AN TEAW JONT RN, 2022 T TuH widfve
TEHE ?
(1) =8y (2) TS (3) IWwRW (4) offem
Which of the following States won the first prize in National Micro, Small and
Medium Enterprises Awards, 2022 ? 7 7
(1) Maharashtra (2) Gujarat (3) Uttar Pradesh (4) Odisha
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63. ‘&amu’mr@wr&qazozzéﬁmaﬁa
3. R T @ e ot fER ww,
w. Wi arcgweren fafiy defren Iopd 9 @ ae Far w0,

qgiEt I
(1) wF A ) (2 s
(3) Aa«LA (4) afiedh s T

The aim of the International Conference ‘Devayatanam’ 2022 is/are

a. To deliberate upon philosophical and religious aspects of temples.

b. To initiate dialogue on evolution and development of the various styles of
' temple architecture.

Answer Options : ,
(1) Onlya ‘ (2) Onlyb
(3) Bothaandb (4) None of the above

64, Wil 9F wEH/T s
A, m@qmﬁvﬂwﬁmmﬁ#éﬁqmrﬁmmﬁqﬁﬁﬁﬂ%mw
¥, At Ao P ‘Sfer wife B A srmomd e e € ufeef awdta Sl

W‘H’faﬁ:
(1) SHFI-3T (2) Bad o ‘
(3) HTdARA (4) TR TR T

Select the correct statements : '

a. Gita Gopinath became the first woman to feature on the ‘Wall of Fame’ of the
International Monetary Fund.

b. Gita Gopinath became the first Indian to feature on the ‘Wall of Fame’ of the

International Monetary Fund.
Answer Options : )
(1) Onlya . (2). Onlyb
(3) Bothaandb - (4) None of the above -

65. Eflae Wd TR U HHAM — st sifow fig woft amr Seam s . frem
o Wil wE w7 ?
(1) & T Fure e gertt @,
(2) <t Foa SeEr T g3yttt adt.
(3) T faame fam we W @,
(4) o= gy 1750 7 g, -
The Habibganj railway station has been renamed Rani Kamlapati — The Last Hmdu
Queen of Bhopal. Which of the following is nof true about her ?
(1) She was the daughter of Raja Kirpal Singh.
(2) She was an expert horse rider and an archer.
(3) She was married to Nizam Shah.
(4) Shedied in 1750.
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66. ?"E\% (Yahoo) fmfa B 3TTEd.
(1) Sodie vt 7 I T - (2) foge =% 7 e *ma
(3) foa @ a3 g (4) T %6 9 9% ¥99
Yahoo was developed by .
(1) David Filo and Jerry Yang (2) Vint Cerf and Robert Kahn
(3) Bill Gates and Ken Thompson - (4) Steve Case and Jeff Bezos
67. mmmmmmmmmm q A HiSEE
S, ot 22 WY 1.
(1) wE.w.. (2) wH.TEw. (3) wH.uEH. (4) FF.TH.UE.
is an application developed by Digital India Initiative which keeps record -
of soil health distributed to farmers. It is in 22 languages.
(1) HSS (2) SHS (3) SHC (4) ISH
68. g% U= gi Euferd BNl Javel wdffe feeiesl Wea (vA.ww ESh.) afde & Kl
T STesEard. |
(1) -t (2) 3= (3) -foem @) $wm
C-DAC Mumbai is lookmg after a National Service Delivery Gateway (N, SDG)
services known as
(1) eTaal (2) eCom (3) eMitra (4) eSangam
69, JAI.IETE.H. IR 9 A9.AF.A. g = agad faure N geedie AeY e dad
AT HAUATHTE] TR Heredl HRHATS T .
(D qr{.'s.d’r.g. (2)  FuAgg. @ smwgd. @ 3w
A joint project of IISC Bangalore and IIT Mumbai for generating skilled manpower
in nano electronic area is .
(1) NEPU (2) UNEP (3) INUP (4) ENUP
70. MOOCT=™ |
(1) i iR 3iue HRE S (2 WA A FHET HiE
(3) ey AR AT B (4) TR A AR P
MOOC stands for
(1) Media Online Open Courses (2) MIT Open Online Courses
(3) . Massive Open Online Courses {4) Major Online Open Courses

TEYT BT ST / SPACE FOR ROUGH WORK
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71, 2019 I Nt Wik s JreR Rse Afew af e fecfie o oo e
77 o% e T AgEiea Teaehiadl IR wen o, W e =i fafdeen
‘ol 37 77 & W el TEHT & APER AR
(1) rfeam == (2) W &
(8) HRER | (4) AT AN

Sahitya Akademi Award of 2019 was awarded to senior writer and film director Sai
Paranjape for her ‘Ani Mag Ek Diwas’ translation. The book is a translation of ‘And
Then One Day’ in English written by senior actor .

(1) Amitabh Bachchan (2) Anupam Kher

(3) Naseeruddin Shah . (4) Javed Akhtar

72. m@aﬁ@ﬁm@maﬁqgwﬂ 2022 % GG HEE 3T ?

A, @ | ¥ fwmem
F. YRd FAR VRIS T TAYE faE
RUiiE
(1) %Fa A, 9, (2) HF 9,6, S
3) A, H, S 4) T A, 49,
Which of the following sportsmen were honoured with the Arjuna Award, 2022 ?
a. Neeraj Chopra b. Hima Das
¢. Bharat Kumar Rathod d. Manpreet Singh
Answer Options :
(1) Onlya,b,¢ (2) Onlyb,c,d

(3) Onlya,c,d (4) Onlya,b,d

73.  ‘HBgercl... 39 92 37 U TEHN AEH B R ?

(1) =fe 5= (2) e T

(3) TNIR (4) et s

Who is the author of the book, ‘Actually v I Met Them’?

(1) Shashi Tharoor {2) Devika Rangachari
(3) Gulzar (4) Geetanjali Shree
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74. G @ 2021 TEFR GEEdeR BT IRUT WS Sl 3R 2
(1) ¥ 2 (3) H=3 4) TR
Which of the following city received the “Tree City 2021’ award ?
(1) Nashik (2) Pune (3) Mumbai (4) Nagpur
75. I FA/H e
L. T @ I IR A1 Hicaien Sifked SwEt R 2020 .
o ST eSS Ao ‘A MY A1 Y Y GAEE S Fiiged JEEHR 2021 WTH .
vt I . ' '
(1) w5 R : (2) wES
(3) waTIA (4) =hath Tl
Select the correct statements.
a. Nanda Khare’s novel ‘Udya’ received Sahitya Akademi Award 2020.
b. Aaba Mahajan’s short stories collection ‘Aabachi Goshta’ received the Bal
Sahitya Puraskar 2021.
Answer Options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above
76. . WHE devidicl gEre faum wvE ?

(1) AN SH AR WA O e e @ O, s e @ few
IRty TR, |

(2) fovafosen ¥oa seEaer IR A== SEH @ GHaST TIE el TR,

(3) 2022 =1 T ALY T At faST IR

(4) Fefo SE Fu e A He .

Which is an incorrect statement about R. Praggnandhaa ?

(1) He is the third Indian after Viswanathan Anand and P. Harikrishna to beat
the Norwegian Chess master.

(2) He defeated world champion Magnus Carlsen twice within four months.

(3) He is the winner of the Chessable Masters 2022. '

(4) He is associated with Westbridge Anand Chess Academy.
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77.  Sresn oEl (STFEE TR 2022)

At E |
(@erg) (Frer w=m)

A, T TG i EHR

. W TER SA ' i, Sy

%. e el i, N

3. g aNEd e iv.  GdffEn

ot IW

| A 9 w- 3
L v i i i
(2 iv § i i
3 i i iv i

4 i i il iv

Match the pairs (Dhyan Chand Award 2022) :

A
(Sportsperson)
Satyadev Prasad
Bharat Kumar Chhetri
- Bobby Aloysius
Dadu Dattatreya Chougule

Ao P

Answer Options :

a b ¢ d
1) iv i i il
() iv 1 i i
3 1 i iv il

(4) i i i iv

ii.

iii.

iv.

B
(Discipline)

- Hockey

Athletics
Wrestling
Archery

R15
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78. mmwwﬁmmﬁﬁqﬁﬁwﬁaﬁvﬁmaﬂ% SIHar, 2022 W
AT TETR et Tereim fasaue Figfas i amea 2
1) 19 (2) 20
L@ 21 4) 22
Rafael Nadal is the Tennis player with the most Grand Slam Tournament Titles
won. As of January, 2022, how many Grand Slam victories has he made ? .
1 19 (2) 20
(3) 21 {4) 22
79. ?mﬁmmmgﬁm ma@aﬁazomm?ﬁaﬁmvnansmﬁmngﬁm
FHiEE! . FHa Madaa JEERR L0Td AT,
(1) o AR TEHR (2) = fepestl g
(3) AR TEHR (4) I 9IS GEHR
Dr. Vasant Gowarikar was honoured with in 2004 by ‘The Astronomical
Society of India’ for his important work on the fuel of the satellite.
{1) Young Astronomer Award {2) New Discovery Award
(3) Aryabhatta Award (4) Shaw Prize Award
80. TERG 3= fEaw gae AEaEn €, e fafae mum, m%@waﬁmm

"Tf?’rﬁﬂi“aﬁ:{wrﬁz___wﬁmﬁ
(1) =E gl

(2) TIoIST I

(8) iU TR

(4) <O THER HRHL

Without obtaining higher education in Mathematics but making various discoveries
in Mathematics with great efforts, received the title ‘Ganitananda’.

(1) Mahendra Suri

(2) Gangesha Upadhyaya

(3) Shankara Variyar

(4) Dattatreya Ramchandra Kaprekar
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81. Wieiieieh! SR THUM aTad HesET :
3. mﬁﬁﬁaﬁw@ﬁqﬁmmé@ﬁqﬁmwﬁaﬁ

. mﬂﬁﬁaﬁmﬁaﬁﬁmﬁwsﬁﬁammaﬁmmmm
.

it IW

(1) S T TR ]

(2) W & G AR

(8) AT I G AR
(4) 9« I @R AR

Identify the correct statements among the following :
a. Applicant has to give the request for infoﬁnation in writing.

b. Public Information Officer shall give the information concerning life and liberty
of a person within 30 days.

Answer Options :
(1) Only ais true
(2) Only bis true
(3) Both a and b are true
(4) Both a and b are false

g2, wied iR EE, 2005 Y WS BT Faww 99w A, gE=n
A ST e o aiaRa Fte ?
(1) wam 6(3)
(2) =Hem 6(1)
(3) wHH 2(e)
(4) o™ 5(2)

Under which of the following sections of the Right to Information Act, 2005, does the
Public Information Officer have to transfer the apphcatmn concerning another public
authority ?

(1) Section 6(3)
(2) Section 6(1)
(3) Section 2(e)
(4) Section 5(2)

FHoedT FEAE! ST / SPACE FOR ROUGH WORK P.T.0.
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83. ‘mficfien sfaerd A o, Forrd WRE WO s a1 e frirm
el 3 W AR ey fefia vt @it Fefvamn sfter smr o sf
m . ] .

. M, FOETR, I I qurgef ‘
T, HIcH Seal SITEHATSA WA Tt @1 IR
F. Gyl | a1 A6, oA AR Hor
waff TR ;- |
(1) % 31 M 7 T
(2) e F T
(3) wHT A TN AR
(4) 09 7d ww AR
‘Right to Information’ means the right to information accessible under this Act which
is held by or under the control of any public authority and includes the right to
a. Inspectidn of work, documents, records
b. Taking extracts or certified copies of documents except notes
c. Taking samples of material irrespective of their certification
Answer Options :
(1) Only a and b are correct
(2) Only cis correct
(8) Only ais correct

" (4) All the above are correct

84, wifxdiem iR ot grEe FvAHR SaTn w5 ey g 2

(1) 16 9% 9 fes

(2) 18 9% 7 L=

(3) 2199 7 IIfu=w

(4) =TT wvrE fey @

What is the age criteria to file an RTI application ?
(1) 16 years and above

(2) 18 years and above

(3) 21 years and above

(4) No age criteria
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85, . wifeeian e rfafaem, 2005 3 gEd 1ggE sHfufrmm=an o FemEh wEta g ?
(1) ¥ 13 :
(2) W 18
(3) w24
(4) +heH 30 _
The Second Schedule of the RTI Act, 2005 is related with which Section of the Act ?
(1) Section 13
(2) Section 18
(3) Section 24
(4) Section 30

86.  WENIY TiHai g MU, 2015 AT S e T -

. e TS
A 23 i, Fem Yvaren AT AtfteeR
] 24 ii. Y fhRar e miEdt send dom=n T sht g wa
%, 25 iii, aRETEETedT SAREHREE U
3. 26 v, TEMEA HATH Htd
a3 :
A T FH S
(D i i dv i
2 un i i iv
3 1i v i ii
4 i i iv i

Match the following regarding the Maharashtra Right to Public Services Act, 2015 :

Section Provision
a. 23 i.  Power of Government to issue directions
b. 24 ii. Action against eligible person for giving false or frivolous
‘information ‘
c. 25 iii. Bar of Jurisdiction of court
d 26 iv. Protection for action taken in good faith
Answer Options : :
a b ¢ d
(1) i i iv il
(2 1 i i iv
(3) idii iv 1 ii
4 u i iv i
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87.

34 A

VEWTS; WihdaT g AR, 2015 2 IR wem e yiktem=ren frdieh el o 2
(1) &M 7 (2) | 8 (38) %EH 9 (4) e 10

Which section of the Maharashtra Right to Public Services Act, 2015 deals with
appointment of appellate authority ?

(1) Section 7 (2) Section 8 (3) Section 9 (4) Section 10

qgmqaﬁaﬁmsﬁatﬁrﬁamwaﬁwmaﬁ q&T AT TGt 9 3= 94l s
ST ?

(1) =" 12 (2) ®a¥ 13 (8) =W 14 (4) weH 15

Under the Maharashtra Right to Public Services Act, by which section is the term of

office and conditions of service of the Chief Commissioner provided ?
(1) Section 12 (2) Section 13 (3) Section 14 (4) Section 15

89.

W@ﬁmmmﬁmﬁag@wwmw@mﬁﬁww
HOATE ] AT ?

(1) w15 ) (2) =ew 19

(3) o™ 22 ' (4) ThH widd T

Provisions to remove the Chief Commissioner under Maharashtra Right to Public
Services Act is made under which of the following section ?

(1) Section 15 (2) Section 19
(3) Section 22 (4) None of the above

HEATSE AFHET §FF FEeT, 2015 R wrele faum faemE o

BTl wEdHE WU wEEen wem 8 o9l YW ordichy e wevm
mmaﬁmﬂmmaﬂﬁﬁmﬁmmﬁmﬁgﬁﬁa
A yefRfiE sftwrrem saltam 3= gatE e,

fFer I : aﬁaﬁmuﬁﬁwmé@aaﬂmﬂwmmaﬁwm@qﬁ?ﬁa
aftrrrr=a eafen = rmeen st fagah s,

it I _
(1 faum 1=t ammg; 11 g (2) faum II st ong; I N
(3) o fum sl onga (4) = faum gt onda

Consider the following statements in view of the Maharashtra Right to Public

Services Act, 2015 :

StatementI:  The Public Authonty shall appoint an officer not below the rank of
Group B or its equivalent rank who is superior in rank to the
Designated Officer to act as First Appellate Authority under
section 8 of the Act.

Staternent II: The Public Authority shall appoint an officer who is superior but
below the rank of Designated Officer to act as First Monitoring

Officer.
Answer Options: _
(1) Statement I is correct; II is incorrect (2) Statement II is correct; I is incorrect
(3) Boththe statements are correct (4) Both the statements are incorrect
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91, memwmwmmwmaw

A : 35
T VR :
¥, AEY B e Ef
%, fawy sl fageur s.
i IW ; ‘
(1) 1 a7 § ()
(3) = M S = “@

TG AEABEH 4
fervaamy U el

q M = qU=T

A T g ST

- A grand procession and felicitation of Tilak and Agarkar was arranged in Mumbai
after their release from the imprisonment of 101 days by

a. Narayan Meghaji Lokhande b.
c¢.  Vishnu Shastri Chiplunkar d.
Answer Options : . 7

(1) aand b correct (2)
(3) candd correct | (4)

Damodar Savélaram Yande
Vishwanath Narayan Mandlik

b and ¢ correct
a and d correct

92,

A GIHT GIGET HeTET ] q. RS AW
%,  gIdA T . HECA dBad B

FEIh! 9 watg Eefte g faer.
(1) o1 anfer & s

(2) = o g s

(38) &, § MW & F=T

(4) b= =d

Lokmanya Tilak criticised the moderate leaders and Congress convention
as: '

a. Congress of Flatterers ‘ b.
c.  Entertainment of Holidays d.

Slaves of Government
Work in spare time

Select the correct option from the above pair.
(1) a and c correct

(2) bandd correct

(38) a,band c correct

(4) All of the above
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93. @l v gesan ¢
A, gaht < aoft wereei Age
9. rfeesrear dgmn Yar
. e feg e s
3. 9 SIS SareTre it g
et 3w
A °§ & T
(1) i v i i
(2) ii i v il
3 i v 1l il
(4) ii iv 1 1ii
Match the following :
a. Leadership of the Queen of

Answer Options ;

(1)
(2)
(3)
(4)

Jhansi’s Regiment

Leader of Naval Mutiny

Establishment of Azad Hind
Government

Underground leadership in
Quit India Movement

a b
i iv
mnooi

i iv
ii iv

c
i
iv

iii

d
ii
iii
ii

il .

36

ii.

iii.

ii.

iv.

Subhash Chandra Bose
Captain Lakshmi
Swaminathan

Aruna Asaf Ali

B.C. Dutt
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94, WEW I e A&

A, <. Taemm At i oen faga

¥. ad s i, TS W S
F. foemm & jii, WiTEQR ST
s g % iv. SaeTs WIS
gt I ;

A o ® 2

(1) v il i 1

2y i i i iv
(3 i i v il
(4) i iv il il

Match the following pairs correctly :

a, Dr. Willian Jones i.  Theory of Wildfire

b. Warren Hastings ii. Dictionary of Marathi language

c. William Carey iii. Translation of Bhagwat Geeta

d. Grand Duff iv. Translation of Shakuntala
Answer Options :

a b c d
(1) iv @i i i

(2) i i1 1 v
3 1 i v il
(4) 1 v i il

95. fa. 18 5@, 1823 VS Setewn ‘Tliedy =41 3rller @iddlel Sarft=aT Han &red :

A T U HEE T §. SRV STHE

%. s seEd T WY T WS

ary gt fast.

(1) 31 =R (2) ¥ I % FTAK

(8) 3, § MM & W (4)  3fir g J=L

The petition for ‘Satibandi’ dated 18!h June, 1823 was signed by the following
Dersons :

a. Raja Ram Mohan Roy b. Balshastri Jambhekar

c.  Vishnubuva Brahmachari d. Jagannath Shankar Sheth
Select the correct option.

(1) acorrect . (2) b and c correct

(3) a,bandc correct {(4) a andd correct
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(1) (2) (3) Wal (4) o
river meets Krishna river on its left bank.

(1) Koyna (2) Sina (3) Yerla (4) Purna

97. Ste OET
1 ) )

H. e 9id i i. Utadis ggEmm

5. nfmr il i, 3 HEHETR

F. TR TEA i, &g weETR

g} IW ;

A T &F

(1) 1 i il
(2) mi i ii
3 1 i iii
4) i il

Match the pair :
I I
a. Saint Paul Ridge i.  Pacific Ocean
b. Mariana Trenche ii. Atlantic Ocean
¢. Challenger Rise iii. Indian Ocean
Answer Options :
a b ¢

(1 i i
2) i i ii
3y i i iii
4y i i i
98. @it faut e
q.  §9 1855 WH, @i Seeidin v Fadamd) e S 311G B! figerdt e,
%, VAT ST IR [ S wEr s,

tm‘i‘d?:ﬁﬁ:
(1) ad f99E H SO 37, (2) e faum ¥ =t TR,
(3) Foam a1 anfor § w0 AL (4) foam ¥, 9, % 9= ARq.

Observe the following statements :

a. Cincona Plant is used to produce medicine for Malaria.

b. In 1855, Lord Dalhousie appointed Inspector General of Forests for Forest
conservation. .

c.  Cattle grazing is permitted in protected forests of India.

Answer Options :

(1) Only statement a is correct. {2) Only statement b is correct.

(3) Statements a and b are correct. (4) Statements a, b, ¢ are correct.
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99, awmmﬁaﬁﬁeﬁ-wma%mwéﬂwﬁa-w%ﬁﬁﬁﬁﬁtﬂauﬁammm

TS ?
(1) 10 fw.sfi. (2) 15 fw. (3) 20fws (4) 25T
How much minimum wind sbeed per hour is required to generate electricity from
wind ? _
(1) 10km - (2) 15km (3) 20km (4) 25km
100. Eeitel SN A
w1 ww II
(staw) (afre=t)
HA. WX i. e '
T WX i, 3IWTE, YR, Y& I T
F. woaN. i, 91 M
s W v, Ve ITg¥R e Ifie grar Ruad
i I
H# T & B
1 iv i i i
2y 1 mio i iv
3 i i i v
(4) i1 i iv il
Match the following :
Column I Column II
(Region) (Characteristics)
a. Bhangar i. New alluvium
b. Khadar ii. Barren, saline, dryer areas in Uttar Pradesh
c. Kallar iii. Old alluvium |
d. Terai iv. = Streams disappeared in bhabar reappear

" Answer Options :
a b ¢ d

1) iv i i i
2 i i i v
@) i i i v
(4) iii i iv i
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(8) wIfael fafda e fafime smfle = Fm (16 %) =@, TEgfeesaiaiEed STuEFat a1 36

HZER F= FH HedAd T FIdT FOFFAT ILUH Hel IR, 37 e IR 9 FHER IHEERER TR
ST oo “‘oligmved Fon=n foer yfidy FoaeEas afifem-82” arde wEdTeR A
T A¢A 9 ft SR} FATH T aNT=E1 HETETT A/ R v U s9R R dere fam

. WM .
(9) T BT FET fafka Forelt I dcam SHeaen # gt T et e

U T @ AR, muﬁmmwmmmﬁmml

WA g 7 AT T o Aravas o
Fl'ﬂ?lTHQET
¥, %. 201, A A T FOIEE RV Hed: TS B ?
(1) @it gEHe g (2) ez fmmEmR
(3) T UwAEA W (4) TiesEe T

. 5.

T A IR (3) T UHEiET U SR IR, WS A1 YN I (3)” B, aRea
WIEAEAHT T 55, 201 FE0 Iut-6miw (@)’ ® ade Quivtl FRifEa wed @l smEwEs
M.

2. O @ @ ®

WM Y g TEghdie Sl IS AT ITR-HAIh 81 Tl Wil guieeen
IERAE W W TR §eUd age [ SR e . grentar
TF AT W AU A9, UiHe a1 g o amas 7.
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